


Azad borrows a sum of money from his

SI C'[ friends at 3% per annum at SI and
invest it a@er annum at compound

3'/ ‘ 50625/ * interest (compounded half yearly) and
thereby gains Rs 660 at the end of the

year. The sum borrowed is.

2'0625—9666 ATSITE ©B YR U9 SId 4 3% WTERIT
[ oo : TS @1 G 9 odr @ a1 SS9 5% dAbhqfg
&9 @I X 9 A HRAl & fordd 1ol B
gfa gl Bl @ afe 99 39 YBR 660 ®

SqTST ghal =, dl i1 qdrai?
| O BT Il . 2,(.‘.2.(
Q+?_6_~)3{-.)05d 32000 (b) 24000 1 g2

(c) 40000 (d) Not —
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Gaurav bought a laptop at some price
and made a down payment of Rs 1750.
She paid remaining amount in three
equal half yearly installment at 8% rate
of simple interest. If SI paid by her is Rs
1200, then what is the cost of laptop.
TR & ey & &l geu [k @der @
dT 1,750 W9A BT TG IR
dem 91l i3 3 §XEx 6 Arel
ATERY &AT5 1 G 9 A &Yal & &1l
AERYT &1 1,200 ®©Y3 g, dl
9 &1 SIHd 71 27
(a) 17750 (b) 16850

(c) 17350 S Nowg 34[{




3
Azad invested Zth of his savings at

2
165% p.a. simple interest, half of
remaining saving at 8% p.a. CI for 2

years and the remaining amount of
savings of Rs 1,500 is kept

Find the amount of total money he had
after 2 years in to saving.

3 2
W@ﬂ‘rﬁﬂﬂ'ﬂﬁrmzﬂw lsg%aﬁ

TERYT &ATSl &1 ¥ O dAT 91l A3 BT
T AT 8% P dhdfe a5l | 2 9 &
ﬁqmémﬂaﬁﬁlsoomaﬁ

(a) 15000 15249.6
(c) 16245.6 (d) Nema_



The ratipof compound interest of Ist
year to that of 2nd year is 6:35. The

interest rates for three years are in ratio

_ 6
(P“‘G)z’ B Be 1:5:7~W\TH‘!‘.%: 3rd to
[P=30)[Cc) Rep @ 0 oot o1 ¢ ok

A U 635 2| Ay fi wa @ forg
Tl @I X BT U 1:5:7 & dl

Wﬁ$ﬂmmﬁ = P
+3">'£ . 3795 ahqfe o @ IUTd qaral

i (a) 11:4 (b) 42:1 205
AE) 7730 (d) 9:4
@ P Princpal 1 Yern




(D .The cash price of diamond is Rs 10000
"m [lovo but it can also be purchased on 11

\—J monthly equal installment of Rs 1000
- each. Find the rate of simple interest.

gR @) Tde HIEd 10000 & odfdT 3@ 1000
Ud &1 11 "ife waE et w H @da

O 9ddl & 9ERY &4 & ©Y Sd

DI |

(@) 9—% (b) 11—%

11 11 @
(c) 31—/.{]r (d(Zl—
§——~|Tx§f\ R"R&tsg‘_%




® .The cash price of diamond is Rs 10000

but it can also be purchased on 11

\ ' + -’%] monthly equal installment of Rs 1000
R each. Find the rate of simple interest.

gR @ The BT 10000 & odfdT 59 1000
__‘m S0 B 11 qfe 9uE fewl o ff wder
= 1N Y |own




A sum of Rs.5160 amounts to Rs. 6360
at 12.35% p.a simple interest in a certain
time. Find the amount if the sum of
Rs.5203 is at the same rate for the same
time?

|Q| 5160 39 & MY, 12.35% HT TEH AT HI

R W & fafaa a77 # 6360 T9 g T §
'2\)($?‘, WA TAY TUT A SO &7 5203 I9A A

@® g™ " R swne
e (1) =R
P |

(d) 6613



A sum of Rs.5160 amounts to Rs. 6360
at_l2-%5% p.a simple interest in a cextain
I2 ,1‘335'_97 Jiawer Find the amount if the sum of

‘z'ﬂ\lm Bsd“essszoa is at the same rate for the same

ime?

160 39 &ir UM, 12.35% T af¥s sqrar A

R E\Q‘T§M ¥ W & ARgd §#T # 6360 394 & Al &

P i AT AT dUT HHAT AT X 5203 39a &Y
—ﬂ—-ﬁsw W e #4187

R &T qa W‘H‘ - ::;2
VM ﬁ# (d) 6613

) 6513



A sum of Rs. 7800 amounts to Rs.

years when the

dedX 3 aT{

PB-mnnth What will be compound

interest on the same sum at (x+5) % P.A in

one years, if the interest is compounded

| ‘ l O/. half yearly?
— )| 7800 TWA #T UM 2 I« #A x% wfda¥ & oI

0 ?:i:;:::f:éaagngiu)$w#iﬂ:mﬂT%2miiﬂﬁf34ﬂﬁFF

N
""3:44E<> N TS glar g1 FAT UMY W 0F a¥ 7 (x+5)%
® (B

e

+<o
(a) 1654 l‘g \Mlmffﬂﬁﬂﬁﬁtﬁmmg\?ﬂ,uﬁ

(c) 1660 (d) 1560 o5 ardais o7 & §AIfST &ar &7

(a) 1654 (b) 1638
(c) 1660 (d) 1560
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(a) 4,00,000

Vishnu has some amount of money and he
invested the money in two schemesxand
Y in the ratio of 2:5 for 2 years, scheme X
offers 30% p.a. compound interest and
scheme Y offers 15% p.a. simple interest.
The difference between the interest
earned from both the schemes is Rs.
10800. How much was invested in scheme
) &

fasoy & g Fo R § 3R 3EA 2 @9 & fAv

2:5a€3mmr-rﬁa‘ru’laﬂ13ﬁx3ﬂ?‘¥ﬁ'ﬂm
der &, a9 X 30% wia a¥ T gereer

wqﬂﬂ’l%liﬁﬁzﬁrmaﬂ?me%nﬁ

a¥ YSId FId! g1 HTURUT sgraf| gl Arst=insit

) 4,560,000 ¥ 3T sursr & 1T FT 3G T, 10800, TSTAT

(c) 3,90,000 (d)4,80,000 o sp —oae oo

(a) 4,00,000 (b) 4,20,000
(c) 3,90,000 (d) 4,80,000
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A->SI2.

3 82= 29

;‘%169%3aﬁ$aﬁqzﬁr“maﬂt -
WS ¥ TFE & 99 &1 HeW 552 Id ¥ @

The ratio of principal and three years C.I
is 343:169. The difference between 3
years C.I and 274 years C.I is Rs.552 find
out the difference between C.I and S.I on

same sum of money for 2 yegse e of
interest increased by 19%?7? ?3: 1.8 ,_

nﬂuirﬁhahaa&a;ﬂﬁaﬁmm

THIGIY SIS R WYUROT & & FT Fa F
2nT I U &7 19% W 96 T §7

(a) Rs. 423.84 (b) Rs 528.76
(c) Rs.345.25 @ ) None of these






Rakesh borrowed a sum of Rs. 35490 from
a bank as a loan. He promised to pay it
back in three equal instalments. If the rate
of interest is 100/7% per annuum
compounded annually, then find out his
instalment?

THT o o & a 35490 & ol o & 3UR
foram| 3R 39 die e ey & AT FI F
arer foam| afe sarer 1 X 100/ 7% AT @19

g ar fFea 7@ |}

(a) Rs. 12430 J¥ Rs.15360
(c) Rs.18270 (d) None of these
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A certain sum amounts of Rs. 5,989.50

in 2 years at 15% p.a. interest
compounded 8-monthly. What is the

2
simple interest on the same sum for 4 —

years at 19% p.a.? ‘j_Lw.

USyow Bfwa TR 15% o a A B & 2 adf
1S4 5980.50 v @t aeht ¥, wwaafr surer 8-

|¢ FRE I A TP g ¥ A AR 4%

HK\‘\M aul & foT 19% 9fa a¥ &Y gv & HYROT sarsf

X

el OXY uefRs. 3,99
q

O

fhaer g7

(b) Rs. 4,522
(c) Rs. 4,256 (d) Rs. 3,724



Rs)9400 is divided in to two parts first
part is lent out at 8% per annum for 5
years and the other part is lent out at 4%
per annum for 9 years. If the ratio of
simple interest received on two part is 3:7.
Find the amount of second part?

19400 ITA T YAUTA FHY & HET A dET 9714,
gl AT 9T 8% VAT & & 5 a¥ & 3IUR
fear srar 3R qEd 4% yfaay &
mmmam%%‘i%a ATHROT
OISl 1 39T 3:7 § dl Y HET &1 fAse et

AT FA? Iy X6
(a) 5400 (b) 14000

(c) 9700 ﬁnne of these




A sum of money invested for a certain
number of years at 8% p.a simple interest
amounts to 180. The same sum of money
invested for the same number of years at
4% p.a simple interest amounts to 120
only. For how many years was the sum
invested?

% faRaa ¥ Fo faRaa awt § AT 8%
HTURUT 4T 9 @32 & 9T 180 94 g ATdT

& TATT U, FATT Iu F AT 4% HIUROT AT
g fAder & W 120 39 gt § I§ AT W

#r fFasr ast & oo ofr &1 @Adr fFar =

= e J
TR Tl e

c) 32 (d) 28



The compound interest on a certain
sum for 7t and 9t years are x and y
respectively. Find the compound interest
in 10" years?

v fafaa IR w7 3 3R 97 af F awae™
sqTST HAL: x AR y &1 103 a¥ & CI FT A

i [z (b)\/?;

(d) None of these



If the simple interest on Rs.2800Q\t some
rate for three years is 225 more than the
simple interest on Rs. 27000 at the same
rate for 3 years then what will be S.I on Rs.

35500 for 2% years at the same rate?

gfg 28000 9 # UMY gv 3 Iuf # FHr T
9y HTUROT sg1aT 27000 9 $T TRr 9v 3 auf
A 3 T Y FUROT ST ¥ 225 €« g, ar

3dI & 35500 WX 2—331ﬁﬁmmurmm
S5
fraer greft? @
y(a) 6966.50 B) 6922.50

}o) 6953.50 /‘19)5723.50
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Rohit borrowed Rs.950 from Sanjeev at
14% p.a. simple interest for 4 years. He
then added some more money to the
borrowed sum and lent it to Rajesh for the
same period of time at 15% p.a. simple
interest, if Rohit gains Rs.104 in the
whole transaction, how much money did
he add from his side?

ART & 14% WURYT A T T 4 a¥ & fAv

950 ¥ Weila ¥ 3UR fav| 394 Fo IR 392
SIS 3UR & 1% Ui # 3T 15% Hir a7 @ g8
¥ T IR s W TS FY 3UR ¢ A
I Afed 1 QW A9 37 A 104 ITA FT AT

§IHT & 38 Al TE H s 97 A8?

(a) Rs.85 (b) Rs.100
(c) Rs.105 (d) Rs.110



A sum of Rs.6,600 amounts to Rs.8,756

in 4§years at x% p.a. simple interest.

What will be the same amounts to if

invested at (x+3) % p.a. for Zé—years.

Interest compounded yearly (nearest to
Rs.1)?

6,600 97 #T UM x% wia a¥ FUROT A=
T T W 4%3‘1?11'3,756 IO BT AT &1 e

AT G &I zéaﬁ'%ﬁm (x+3) % Wid

Y dIf¥® IT F WATSId THAGY ATl Hr
W fder fFar smar € & Pone Ggo! "

(ST 1 39X & Adhedd) F41 : @

(a) Rs. 8,066 ubrRs 8,385
(c) Rs. 8,458 (d) Rs.8,175



